
D C.3

ROOF
256'-6"

HELIPAD
273'-10"

ELEVATOR HEADHOUSE ROOF
292'-7"

HS
S7
x7
x1
/2

<P
u=
±1
60
k>

C

HSS6x6x3/8
<Pu=±30k>

22'-6 3/4" ± 10'-3 1/8" ±

W18 W12

W36

W24 W10

W30 W14

WP

10

S30-05

5 6.5

ROOF
256'-6"

HELIPAD
273'-10"

ELEVATOR HEADHOUSE ROOF
292'-7"

HS
S7
x7
x1
/2

<P
u=
±1
60
k>

HSS6x6x3/8<Pu=±30k>

28'-4" ±

W18

W18

W27

WP

11

S30-11

DC C.3

ROOF
256'-6"

HELIPAD
273'-10"

ELEVATOR HEADHOUSE ROOF
292'-7"

HS
S7
x7
x1
/2

<P
u=
±1
60
k>

HSS6x6x3/8
<Pu=±30k>

W12 W18

W36

W24W10

W27

W30

10'-5 1/4" ± 22'-6 3/4" ±

WP

LEVEL 6
228'-6"

J.6

(E) RICHARDS BUILDING

MIN. GAP

7 1/2"

14

VIF

2'-4 5/8" ±

5'-6" ± VIF E

5 3/8" ±

POUR STOP, SEE TYPICAL DETAIL 1/S00-24

SEE PLAN FOR FLOOR CONSTRUCTION

TY
P
.

1
" 
G
R
O
U
T

(N) BASE PL. 1/2"x5"x0'-10"

(2) 1/2"Ø HILTI KWIK BOLT TZ 

EXPANSION ANCHORS TOTAL WITH 

7" GAGE AND 2" MIN. EMBEDMENT

(N) SQUARE BASE 

PL. 1/2"x10"

7"

(4) 1/2"Ø HILTI KWIK BOLT TZ 

EXPANSION ANCHORS TOTAL WITH 

7" GAGE AND 2" MIN. EMBEDMENT

3/16
TYP.

2" 2"

1 1/2"

1/2"

3/16

3/16
TYP.

TYP.

CAP PL. 1/4", TYP. VIF

1'-6 1/2" ±

(E) W SECTION

1
'-
1
1
" 
±
 
V
IF

PL. CL

3'-10 1/2" ± VIF

14

S30-03

(3/16)

(3/16)

7

F.1

5 1/2"

(2x3) 3/4"Ø A325 BOLTS

MC18, SEE PLAN

FITTED STIFF. PL. 3/8" EACH SIDE

3/16

3/16
3 SIDES, TYP.

6

S30-06

NOTES:

1. SLAB CONSTRUCTION NOT SHOWN FOR CLARITY.  SEE PLAN.

LEVEL 6
228'-6"

F.1

6
"

6
"

3
"

SEE ARCH DWGS

3
"

MC18, SEE PLAN 3/4"Ø A325 BOLT, TYP.

REINF. BEYOND, SEE TYP. DETAILS

POUR STOP, SEE 

TYP. DETAILS

STRIP W10 FLANGES, TYP.

1
 
1
/
2
"

1
 
1
/
2
"

5
" 
M
IN
.

FULL DEPTH STIFF. PL. 3/8", TYP.

3/16

3/16
3 SIDES, TYP.

(2) 3/4"Ø A325 BOLTS, TYP.

W10 TYP., SEE PLAN

W SECTION, SEE PLAN

SAFETY TIE-OFF ANCHOR BY OTHERS

1
 
1
/
2
"

1
 
1
/
2
"

3 
1/

2"

M
IN
.

3 
1/

2"

M
IN
.

STRIP W10 FLANGES, TYP.

FULL DEPTH STIFF. PL. 3/8", TYP.

3/16

3/16
3 SIDES, TYP.

(3) 3/4"Ø A325 BOLTS

W12 SEE PLAN

W SECTION, SEE PLAN

SAFETY TIE-OFF ANCHOR BY OTHERS

1/4
BOTH SIDES

BUILD UP FLUSH T&B

SAFETY TIE-OFF ANCHOR BY OTHERS

LEVEL 6
228'-6"

4.6

(N) CURTAINWALL MULLION BY CURTAIN WALL 

MANUFACTURER.  SPACE NO MORE THAN 5'-0" O.C.

(2) 3/4"Ø EXPANSION ANCHORS, S.S. 

@ 9" OC  EMBED 3 3/4" MIN.

(N) PL. 1/2"x8"x1'-0"

(E) 3 1/4" LWC ON 3" METAL 

DECK.  ORIENTATION VARIES

(E) FLOOR CONSTRUCTION

8"

2"

(E) POUR STOP AT EOS

(N) CONNECTION TO (N) 

CURTAINWALL MULLION BY 

CURTAINWALL MANUF.

4"

2
 
1
/
2
"

1
 
1
/
2
"

4
"

2"2"

(N) PL. 1/4"x4"x0'-4", EACH SIDE

3/16 3 MIN.

3/16 3 MIN.
EACH PL.

(E) W18

6"

TRUE NORTH

RICHARDS 
BUILDING

EAST TOWER

TRUE NORTH

1

2 3

4
5

6 7

8

16 2345

A

E

B

C

D

16 2345

A

E

B

C

D

SHEET NUMBER

TITLE

KEY PLANS

PROJECT TITLE

Approved

Checked

Drawn

CONSULTANTS

STRUCTURAL ENG/ BUILDING ENVELOPE CONSULTANT

CIVIL/ LANDSCAPE ARCHITECT

MEPFP ENGINEER/ CODE

PROJECT KEY PLAN

OVERALL KEY PLAN

1 - GILMAN GARAGE
2 - CONGRESS STREET

3 - VISITOR GARAGE
4 - EAST TOWER

5 - CENTRAL UTILITY PLANT
6-BEAN BUILDING

7-RICHARDS BUILDING
8-MAINE GENERAL BUILDING

CLIENT

Job Number

CONSTRUCTION MANAGER

COST ESTIMATOR

ELEVATOR CONSULTANT

Copyright ©  2017 Perkins+Will

3
/2

9
/2

0
1

8
 9

:2
0

:4
6

 A
M

I:
\B

O
S

\P
ro

je
c
ts

\2
0
1

5
\1

5
0

0
9

3
.0

0
-M

M
C

2
\D

ra
w

in
g
s
\W

o
rk

in
g

_
S

e
t\
_

R
e
v
it
\L

O
C

A
L
 U

S
E

R
S

\R
E

E
v
a

n
s
\1

5
2

1
8
1

-M
M

C
-E

A
S

T
 T

O
W

E
R

-v
2

0
1
7

 -
 S

T
R

U
C

T
 -

 R
E

E
v
a

n
s
. r

v
t

S30-06

STEEL DETAILS

East Tower 6 & 7
Addition

22 Bramhall Street
Portland, ME 04102

Maine Medical
Center

CONSTRUCTION DOCUMENTS
JANUARY 26, 2018

Simpson Gumpertz & Heger Inc.

Segabo Technics
75 John Roberts Road , Suite

1A, South Portland, ME 04106

41 Seyon Street, Building 1, Suite 500,
Waltham, MA 02453

AKF Group LLC
99 Bedford Street, 2nd Floor, Boston MA 02111

22 Bramhall Street
Portland, ME 04102

152181.000

TURNER CONSTRUCTION
2 Seaport Lane, Suite 200, Boston, MA 02210

D.G.JONES INTERNATIONAL
3 Baldwin Green Common,Suite 202, Woburn, MA 01801

REE

BMT

JHT

VDA (Van Deusen & Associates)
101 Summer Street, 4th Floor, Boston MA

02110

225 Franklin Street, Suite 1100
Boston, MA 02110

t 617.478.0300
f 617.478.0321

www.perkinswill.com

 1/4" = 1'-0"

ELEVATOR HEADHOUSE SOUTH ELEVATION
1

 1/4" = 1'-0"

ELEVATOR HEADHOUSE WEST ELEVATION
2

 1/4" = 1'-0"

ELEVATOR HEADHOUSE NORTH ELEVATION
3

 1" = 1'-0"

SECTION:  RICHARDS BUILDING TIE IN
4

 1 1/2" = 1'-0"

PLAN DETAIL:  LEVEL 6 OFFSET CHANNEL TO COLUMN CONNECTION
5

 1 1/2" = 1'-0"

SECTION:  LEVEL 6 OFFSET CHANNEL TO COLUMN CONNECTION
6

 1 1/2" = 1'-0"

SECTION:  W10 CONNECTION AT ROOF ANCHOR (2 SIDES)
7

 1 1/2" = 1'-0"

SECTION:  W12 CONNECTION AT ROOF ANCHOR (1 SIDE)
8

 1 1/2" = 1'-0"

HSS CONNECTION AT ROOF ANCHOR
9

 3" = 1'-0"

SECTION: NEW LATERAL CURTAIN WALL ATTACHMENT TO (E) FLOOR SLAB AT LEVEL 6 - POUR STOP
10

NO ISSUE DATE

1 ADDENDUM 1 03.22.18

4/


